

http://www.mahendras.org/

© SBI CLERK 2022

REASONING



http://www.mahendras.org/

UPCOMING ONLINE BATCHES

June 2022

01 June 2022 08 June 2022 15 June 2022

08:00 AM to 10:00 AM 01:00 PM to 03:00 PM 05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM 07:30 PM to 09:30 PM 10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

@Q www.mahendras.org X 7052477777/7052577777



http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

How many pairs of letters are there in the word “SECURITY” each of which
has as many letters be-tween them in the word (in the forward and backward
direction) as they have between them in the English alphabetical order?

g “SECURITY” #H eI & W fhdal I9d 8, e @ 9q% & €I 3 &
R &, Braer 399 T 3N aotATer & wa & (3 iy A A e #) §2
1) One 2) Two 3) Three 4) None 5) More than Three
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If 2 1s added to each even digit and 1 is subtracted from each odd digit in the
number 321754, then which number/numbers are repeated more than once?

IR WEAT 321754 A YAF UH 3F & 2 ST 1T § 3 IAF AYH 3F @
1 e arar ¥, at #l @ geavaEanst # e @ 3 91 QAT Sar 37

1)Only4  2)Both 4and 6 3)4,6,8 4)Only6 5) None
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Y%, N, O, P, Q,aﬁTRama;a‘f'aﬁ?r%la‘mﬂ
wqﬁ?r#%%lwmwma%maﬁtwm
7@ TRor Y 3 &1 A 12 & e safFa 137
& IR v cafFd &1 @ 3o R A § A g@yH
waﬁmﬁmaﬁrm%mﬁ:mmmﬁm
fremait 3 & Y af var 1 @ 3O A AR E A @I A
wa@wﬁen#%aﬁtmﬁﬁalma%m
mmﬁmmaﬁrmmm
ﬁm#m%lmé?mw#%—aﬁﬁmw
mﬁena%mﬁ%mﬁwﬁwﬂ'&—qﬁﬂmmw
Rradia fyamait & 21 ) e v sifRw e wder ]
IfAH I B8R W &S AfFT & T W T TITH W &S
IfFd F AT FfH T BRRAS S & faadia 2
N T 7@ 3] e & ¥ TR g e W AS safFa 1

G AT F I T N QF T aFaIsTi ey
F AT dord, ﬁj#ﬁﬁ?—rﬁanﬁmm%l
K, 910 B @ DY T a dor ¥ Q IfF T F AeT A
ﬁa%ljmmaﬁ‘rﬂra&ma@r%l R, N & fAse g1 K
IRLFIoaTaFadss ﬁtaﬁwé‘rﬁmﬁ
I 37" &1 Q & fAdead =T &1 7@ faudia
AT oskNFrTAE T A R A T3 o sk N
FdTFaaTHAFT &

There are nine persons namely, J, K, L, M, N, O, P, Q"
They all are sitting in a row. Some are facing north and some
are facing south. The person facing in the same direction
means that if one person faces in the north direction then the
other also faces north direction. If persons are facing opposite
directions then if one is facing north then the other faces in
the south direction and vice-versa. The number of persons
facing south is more than the number of persons facing
north.The one who is sitting in the middle of the row faces in
the north direction. The persons sitting on the extreme ends
are facing in opposite directions. J sits on one of the extreme
ends. The person sitting second to the right of the one who is
on the extreme left end is facing opposite to the one who is
sitting on the extreme left end. N faces in the north direction.
The person sitting on the ex-treme right end faces south. Two
persons are sitting between N and Q. P is sitting immediately
to the right of J, and faces in the opposite direction to that of
J. K is sitting third from the left end. Q is sitting in the middle
of the row. J does not face the south. Ris near to N. Three
persons are sitting between K and L, and both are facing in
the same direction. Immediate neighbours of Q are facing in
the opposite direction. O and N is facing in the same direction
and there is only one person be-tween O and N
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Who is sitting third to the left of K?
)N 2)J 3)Q 40O 5L

How many persons are not facing north?
1) Four 2) Five 3) Two 4) Three
5) Six

Who is sitting third from the right end?
DK 2)M 3)L 40 5Q
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How many persons are sitting to the left of L?

1) Four 2) SIX 3)Two 4) Three
5) Seven

Which of the following pairs of ‘Name —Face direction’
IS correct?

1) L —North 2) M =South 3) K —North
4) N =South 5) J -South
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Wefe are seven persons in a family namely, D, G, J, K, N, M, and P. N is the mother of J. D"
son-in-law of N. G is the son of D. K is the only aunt of G. D does not have any brother-in-law. N
and M are a married couple. D has only one brother.

s gRar & ¥9 «afda €, 39’9 b, G, J, K, N, M, 3T P.N, ) Y AT &1 D, N FT gHIE &1 G, D. KHT
qa%e?sam’l?hm%l D& HIE FeI-34-a1 A& Tl N33R moF fRarfed gorer &1 D &1 Faa
T+

How is P related to G?
1) Aunt 2) Uncle 3) Father 4) Mother 5) Grandfather

How many female members are there in the family?
1) Two 2) One 3) Four 4) Three 5) Five

How is M related to D?
1) Father 2) Mother 3) Sister 4) Son-in-law
5) Father-in-law
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Ten Boxes A,B,C,D, E, F, G, H, IandJarep
one above the other in any particular order. Box
number 1 is at the top and Box number 10 is at the
bottom. There are three boxes between Box A and
Box B. Box | is placed on an even numbered
position. Box J is immediately above F and
Immedi-ately below C. Box G is placed between the
Box D and Box H. There are three boxes between
Box D and Box I. Box B is neither at the top nor at
the bottom. Box F is at ninth position. Box G is
Immedi-ately above Box H.

SH dIFd A, B, C, D, E, F, G, H, 131X ) FN QAT FA At
& I TH (@ AT G| T ¥ 1 FeU IR g AR I
STeY 10 Had A1 8| 91FF A 3R dTFF B & il AT aidFqw
& 19 | T TH TH TE&IT arelt Feufa & w@r rar g Bsear
), FEF AF I IR cF s AA T Bear 6, FBsar-p 3R
fEsar-H & fiw @1 8| Bsar-D & g i Bsa §1 31 Bear
. Bear B T AT IR B 3 A & A Bsar Fald Ty I
f2eaT G, f2edaT H & S IR T
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Which box is placed at the top? -

1)A 2)C 3)D 4)I 5) B

Which of the following box is placed at the position
number 37?
DA 2)G 3)D 41 5) B

Which of the following box is placed immediately
below I?
DDA 2)G 3)D 41 5) C

Four among the five are alike in certain way. Find the
one that does not belong to that group.
)G 2B 3)C 4)J 5 F

What is the Box number of Box H?
1) 6 2) 2 3)4 4) 5 5)3
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Certain numbers of persons are sitting in aro

are facing in the north direction. M sits third to the
left of N. Five people sit between M and K. S sits
second to the right of K. O sits fifth to the right of
R who Is an immediate neighbor of M. L sits
second to the left of O. K sits third from one of the
extreme ends. O is not an immediate neighbor of
N. Number of people sit between R and L is same
as the number of people sits to the right of O

ffRea wear A safad va gfda A 3¢ it FTAE 3w
feam Y 31 M, N F T F AW T Wt M IR
KF ST ara AT S 81 S, K F ar | AR T W AT 8
0, R % g ¥ UTd TATH W ST 8, ST M &1 fdhedd
TSI 1 L, O & 1 W qEY TUTT W 3T ¢ K fFedt v
A SR T N TAF W31 81 0, N F1 Ahedd T2
Al g, RIRLF AT IS AR AT 3a- & & _ar o
R IS A Hraeard
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How many people are sitting in the given row?
1)18 2)15 3)17 4)19 5)13

If Q sits between R and N then what is the position

of S with respect to Q?

1) Fifth to the right 2) Fifth to the left 3) Sixth to
the right

4) Sixth to the left 5) Seventh to the righ

The number of people sits to the left of S is same
as the number of people sits to the right of
?

DN 2)L 3)O 4R 5)None of these

How many people sit between O and K?
1) Two 2) Seven 3) Nine 4)Eleven 5) Thirteen
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Ao carad e, ﬁﬁ*x, 3%, R, Rews, w1l
RRIOT, 93T 4 FSrell aTe Us SARG & TEa & afheT
e Tw A8 sl FH F Bl TRAF AT A Fele &
YT Fole 1 IR FolT 2| Fele 1 Fele 2 F IRTA A
g1 A foTe 9 & Bl T TE&AT 1, 3F FUT T
Fiforer 2 ¥ 3 s avE e FTR AT FrEEar 4
g1 Fole 1 Fele 2 F qResr 7 31 . ¥fa 3k faemraes
T forer IR Tt &, 3 A1 1 aiforer ¥ sy Q¥ett
U g Fol< T T@ 8 o el WH HEIT ATl Fole W
el Qa1 3 AT A 3 AT AT @A & S Jad
ST Y AT I TgaT ¢ A v g gEaT arelt
AT I W@ dT ¢ vl a8 9 39 AfSTer 9T 181
gar 81 Rwieh e & &% s areh Afda @
El g 3R A v Y rale A w@a &1 A sy
faetrae oftd #forer o 7€t tea @1 et 3@ Afarer
¥ 2 AfSrer A B & 7 W A |l g i aat
TF &) Fole A Tt &1 B aitx vt sifr fraferer
& &Y F3Tel qTelY ATSTSl U AT W@l &

Eight people Himanshi, Nidhi, Abhi, Priya, Vma,'
Smrriti, Kiran, Shweta live in a building with 4 floors
but not necessarily in the same order. Each floor has
two flats i.e. flat 1 and flat 2. Flat 1 is west of Flat 2.
The lowermost building floor is numbered 1, the
floor above it 2 and so on till the topmost floor is
numbered 4. Flat 1 is west of Flat 2. There is 1 floor
between the floors on which Smriti and Vinayak live
and both live on the same flat but not on even
numbered flat. Shweta lives 3 floors below the
person who lives on the top floor. Abhi lives on an
even numbered floor but he does not live on the top
floor. Himanshi lives on the floor immediately above
Vinayak and both lives on same flat. Nidhi and
Vinayak do not live on the top floor. Himanshi live 2
floors below the floor on which Priya lives and both
lives on same flat. Priya and Kiran do not live on the
floor immediately next to Abhi’s floor
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18.Who lives on Top floor?
F Y AT 9T HiT @ar g7
a. Smriti
b. Kiran
c. Abhi
d. Priya
e. Both b and d
Flatl ~ |Flat2 |

-

T [ Vinaysk
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19.How many floors are there between Kiran and Shweta?
fvor 3T edar & i fhast A &2

a. Two

b. None

c. One

d. Either a or c

e. None of these

i [Fai2
—

T [ Vinaysk
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20.Which of the following statements is correct?

a. Smriti lives on the third floor

b. Priya lives on a floor above Kiran

c. There is three persons living between Priya and Vinayak

d. Nidhi lives immediately above Kiran

e. Himanshi lives immediately below Vinayak

rfaRTFrAI A T FT T 2 1 [Vinayak
v| Y #fSrer 9T et @ T

6 AT T IR TF AT W gl &

@A At R s Ao daa@awa d

2 fo e fFor & S FUT |

3| eI & S S fgaTefi Wi @
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21.0n which floor does Abhi live?

3N g AT W I§ar g2

a. 2nd
b. 4th
c. 3rd
d. 1st
e. None of these Flatl | Flat2 |

-

T [ Vinaysk
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a1z =Af- A, B, C, D, E, F, G 3T H v &= ufwr

¥ IUT AT AT T FF A5 gl AR Al (% qHT
TAATO ZHT FH § 2l

EqfF F 49 H 9371 21 E 3w H F e 9« 1w
=1tk 9% 21 H 3T D F fi9 Fa1 a1 =17 4% 21 B,

D % 3T & gAY ¥ 9 927 g1 B &7 E FA¥eaw
= T2 21 G, AF THRA AT TSI 21 G AT B F
&9 4% FAfeal 1 GEaT It a1 g At Asfie C %
&= 4 =rfwat 1 Ter 2

Eight persons-A, B, C, D, E, F, G and H are sitting
in the linear row facing the north. All the
information is not necessarily in the same order.
E sits on the end of the row. Only five persons sit
between E and H. Only two persons sit between
H and D. B sits second to the right of D. B and E
are not immediate neighbours. G sits immediate
right of A. The number of persons sits between
G and B is the same as the number of persons
sits between A and C.
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Who sits second to the left of C?
a) Bb) E c) A d) G e) None of those give an option

Who among the following person sits to the
right of B?

) H I)F 1)G IV)A

a) Only (1) and (ll)

b) Only (I) and (IV)

c) Only (1) and (l1I)

d) Only (1) and (IV)

e) All (1), (1), (111) and (IV)

If one neighbour of C is B, who is the second
one?
a)Fb)Ec)Gd)Ae)D
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How many persons sit between G and H?
a) Two b) Three c) Four d) Five e) One

If all the persons are arranged in alphabetical
order from the left end, then how many persons
are unchanged in their position?

a) Three

b) Two

c) One

d) None

e) More than three
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How many such vowels are there which is immediately followed by a number?
W frda T & o9 SiF 9ic v & d 87
a) One b) Three c) Two d) Four e) None

8B

Find the next element in the following series?
283, =I5, M@*, ?
a)HJO b) HIX c) %0 d) 10X e) None of these

Four of the following five are alike in a certain way and thus form a group as per
the given arrangement. Which of the following does not belong to that group?
ﬁmﬁﬁaw##wwmmﬁw%mwmﬁ
IS YaEAT & HTAR Toh FHE d1d ¢ Ae=fai@d # § Fiq 39 a5 4@

FafaT T8t 87
a) 20S b) A=l c)L9# d)+@5 e) *OAr
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Which is the 15th element to the right of the 12th element from the left end?
S B8R ¥ 129 dcd & & ¥ 15d7 dcd ST AT g7
a)# b)H c¢)J d)! ¢)X

How many letters are immediately preceded and followed by a symbol?

frder 31aRT & S gga 3T a1 A T Udid 87

a) Three b)Two c) One d) Four e) None
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Warf?r L, M, N, O, P, Q, R, 3T S T% FaT%17
AT TT F% T AT qF F0F 95 2 | T 781 (% a4
ATFRTET ZHT 79 F 27

N,SFamd § gAY ¥ T 3T 21 S 3T M ¥ fi 7

Fa a1 FATE 92 81 P, M F 313 § gAY ¥19 T¢ 927
21 P 3w M ¥ fi=r 3% =izt € s a1 & 2
et M s L & fiw Sz st fr 9=m 21 O, R
F ATO H AL ¥ 97 427 21 Q 3w O Fweaw

Eight persons-L, M, N, O, P, Q, R, and S are b

sitting on the circular table facing the center. All
the information is not necessarily in the same
order. N sits second to the left of S. Only two
persons sit between S and M. P sits second to
the right of M. The number of persons sits
between P and M is the same as the number of
persons sit between M and L. O sits second to
the left of R. Q and O are not immediate
neighbors.
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Who among the following person sits immediate left of
a)Pb)Rc)Md)Oe)lL

If S is related to O and M is related to P in a certain way.
Then who among the following is related to N?
a) Rb) M c) O d) L e) None of the above

Who among the following person sits opposite to M?
a)Rb)Pc)Nd)Qe)lL

What is the position of L with respect to Q?
a) Second to the left b) Immediate right c) Third to the left
d) Second to the right e) Immediate left

How many persons sit between S and R when counted to the
right of S?
a) One b) Two c) Three d) Four e) None
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16) Statements:
JSI2K>L sN>G=0<Q

Conclusions:
L1149
L =)

a) None follows

b) Only | follow

c) Only Il follow
d) Both | and Il follows

e) Either | or |l follows

17) Statements:

XsY=Z<W=2V=U
. W=2U

Il.Z= X
A.Only | follows
B.Both | & |l follow

C. Either | or Il follows

D.Only Il follows

E.None of these
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18) Statements:
F<SA<S >7Z =P 2 B=R<D

Conclusions:

. R<S

II.LA<P

a) None follows

b) Only | follow

c) Only Il follow

d) Both | and Il follows

e) Either | or Il follows

at 11:30 AM
19) Statements:

l=J<M=L2K=N

. N < |
II.L>N

A.Only | follows

B. Neither | nor |l follows
C. Both | and Il follows
D.Only Il follows

E.None of these
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20) Statements:
N2P=S>T=I:M<Hs<G<I:
Conclusions:
. M<P
II.N=2G

A.lf only | follows.

B.If only Il follows.

C.If either | or |l follows.
D.If neither | nor |l follows.

E.If both | and |l follow.
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AR -A,B,C,P.R SATZATFF T TT RIS A, B, C, P, R, S and Z are kept one

above another in the stack. The lowermost shelf
is numbered as one and the topmost shelf is
numbered as seven. All the information is not
necessarily in the same order. Box A is kept

EIEE R IEE R IEG O LGl E SE IS Il adjacent to Box B. Only two boxes are between
kIR I ek A E ot B and C. Box C is kept below box B and box A.
Box S is kept immediately above box R, none of
the boxes are kept below box A. Box P and Box Z
are kept below Box B. The number of boxes kept
EIESIE A et REEHIR IR IREIEL A RIEE above box R is the same as the number of boxes
T AT AT T HEAT F T 2 kept below box Z

TF H TET AT 2| "9 e 9w fT UE F w=H
AT ST # 3T EE T AT O T AT F =T H
AT strar 81 s F@  adf gEeT o= i ww A 2
T AFITTBFAAAT @I TATZIBATC F

TET AT 2, F12 AT I7FT, T A F 719 21 797 747

2| T P 37 aiF Z, a7 B F = &1 14T 21
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21) Which of the following box is kept immediately
above C?
a) Box Rb) Box B c) Box Sd) Box Z e) Box P

22) How many boxes are kept above box A?
a) Three b) Two c) Four d) Five e) One

23) Four of the following are alike a certain way and
hence forms a group. Which of the following does not
belong to the group?

a) SAb) RBc) PCd) AP e) CR

24) Which of the following shelf does box P has kept?
a) Fourth b) Fifth c) Third d) Second e) Sixth

25) If all boxes are arranged in alphabetical order from
the top, then how many boxes are unchanged in their
positions?

a) None b) Three c) Two d) One e) More than three
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SR IC IR W SRR D <R S el Clll A family consists of seven members- A,

T I e ey aupeea—cell B, C, D, E, F, and G and two married
| n | couples. Cis the sister-in-law of G, vice
faodia (vice versa)l A, F & fadT 21 G, D #i1 |QR o e e e I A TR only

;2
\ 4

T T 21 B, C %7 &9 21 E 37 A 9rE-712 2 daughter of D. B is the father-in-law of C.
E and A are siblings. F is the niece of G. E
is unmarried. C has no siblings.

F, G #Ft w1t 21 E srfaattza 21 C &7 &g qre-92+
CELL
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26) Who among the following is the mother of IE'
A.G B.C C.D D.E E.None of the above

Which of the following statement is true with
respect to E?

A.E and C are married couples

B.E is the son of C

C.E is the father of G

D.E is the brother-in-law of C

E.All are true

28)Four of five among the following are based on a
certain group. which one does not belong to the
group?

AB BC CG DD €EF
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29) Statement 29) T

Only a few Ellipse is Nonagon FAT T &l Zher (ellipse) T (nonagon) ¢

Tt A (nonagon) FRFTHS (rhombus)

% qHFqHS (rhombus) TFTTF (decagon) &
Aoy
. FTE A (nonagon) TFTTH (decagon) T2l 2

All Nonagon is Rhombus
Some Rhombus is Decagon
Conclusion

|. No Nonagon is Decagon

II. 7r+fY TFT7 (decagon) FHT T 1717 (nonagon)

ll. All Decagon can never be Nonagon
a) If Only conclusion | follows.

b) If Only conclusion Il follows.

c) If either conclusion | or |l follows.

d) If Neither conclusion | nor Il follows.

e) If both conclusions | and Il follow.
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30) Statements: 30) I

Some mouse is keyboard g HT3H (mouse) FTaTE (keyboard)

All keyboard is laptop ¥t Frars (keyboard) STEiT (laptop) 2

Only a few laptop is CPU FAT F 2 AT (laptop) Hdg (CPU) 2
Conclusions: Ao

. All keyboard can be CPU |. 7T Fr=re (keyboard) HT¥r (CPU) BT #d §

Il. Some mouse is laptop II. %= ATSH (mouse) W2 (laptop) &

A.Only conclusion Il follows A. FFe (Ao || AEeor F:7aT 2
B. Fae At | SIeor F7aT 8

C. Tt e | 377 || STEer F:3d &
DT &7 Aot | =T || S Far 8
E.7 a1 fAe | 3fi 7 21 |l srqaeor F7ar 8

B.Only conclusion | follows
C.Both conclusion | and Il follow
D .Either conclusion | or |l follows

E.Neither conclusion | nor |l follows
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31) Statements:

Only tablet is mobile

Some tablet is laptop

Only a few laptop is computer
Conclusions:

|. Some laptop can be mobile

Il. Some laptop is not computer
A.Only conclusion | follows
B.Only conclusion Il follows
C.Neither conclusion | nor |l follows
D.Either conclusion | or Il follows

E.Both conclusion | and |l follow

™ at 11:30 AM

31) FI:

Fad caie (tablet) T AraTZ (mobile) g

T% ca<1e (tablet) 7T (laptop) @

FAT T a1 97 (laptop) FI=T (computer) g
Ao

|. T AT (laptop) HIETZ (mobile) BT T 2
. T A7=(T (laptop) < (computer) &1 &
A. Fae Ao | e Fear 2

B. Faer e || sreor #ear 2

C. 7 a1 fAmad | 3w 7 2 || Aqaeor Fvar 2

D7 |7 fAea | =T || S F7ar 8
E. a1 Ao | 37 || s/aor F7d 8
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Only a few Mouse is Bat 32) FA9

No Bat is Cow FAA T 2l 9139 (mouse) < (bat) &

Some Cow is Goat F1E 92 (bat) FT3 (cow) 7=l 2
Conclusion % FT3 (cow) e (goat) &

|. Some Goat is Mouse Ao
|. = e (goat) ATSH (mouse) 2

|I. Tr+fY e (goat) F &= (bat) 219 FT HATAAT 2
a) 7% Faer Ao | SAETT FaT 2

b) =% Fae Ao || S E<or Far 2|

c) 7% =T a1 AT | 37 || AE<or F7aT 2

Il. All Goat being Bat is a possibility
a) If Only conclusion | follows.
b) If Only conclusion Il follows.
c) If either conclusion | or |l follows.

d) If Neither conclusion | nor Il follows.

e) If both conclusions | and Il follow. d) afe 7 a7 Ao | 3T 7 27 1| e FTar 2|
e) 7= ekt | 3% Il Z=T ATHALOT FLd 2|
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m%PQRSTWUWﬁw¢%

- IIT'—?HT— AU, /L AT S FT 2T SAIT-3TT

fafa=i 21 91 15 a1 18 T AHAR § 9N o 77
T, Q & a1 ARFAT T2 9T &4 21 Q, Hai #¥
farowr #eaT Freft AT F 9T AT 21 T 7 I8 AT
o ATl SRAT Fr Tedr, U F a1 9T o 9Tl
TR T T=AT & A 21 S, P & Tkt T2l AT

AaT 21 R, T 3 A9 ST a1 <17 2|

Six persons-P,Q, R, S, T, and U are
attending the seminar on two different
dates either 15 or 18 of three different
months- April, May, and June of the same
year. All the information is not necessarily
in the same order. T attends two persons
before Q. Q attends on the odd number
date of the month. The number of
persons attends before T is the same as
the number of persons attend after U. S
attends immediately before P. R does not
attend adjacent to T.
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Month with Date
April 15
April 18
May 15

May 18

June 15
June 18

Person

33) Who among the following attends immediately
before R?
a)Sb)Pc)Td)Ue)Q

34) Who among the following person attends on April
15th?
a)Rb)Uc)Td)Pe)S

35) Which of the following statement is/are true?

I. T attends on an even number date

1.Q attends immediately before S

lll. P and T attend on different months

IV. S attends in the month which has an even number of
days

a) Onlylandlll b) Only lll and IV c) Only Il and Il
d) Only Il and IV e) None of these
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s o

e o
EXC R

36) On which of the following month and date does U att:n?
the seminar?

afef@a & @ 9 #da 3k adi #F vAREIR &
$TTeT oidT 872
a) June 15 b) June 18 c) May 15 d) May 18 e) April 15

37) How many persons are attending the seminar’after T?
TH a1 fhas afFa AFER & smr & @ 872

a) One b) Two c) Three d) Four e) None
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38) If all the letters of the word “BROWNIE” are arranged in
alphabetical order from the left end, then which of the following letter

is second from the right end?

af& e “BROWNIE” & Waft 3r&aRY A 91¢ 8K & qUlefshA A
sqafeyd fFar oar &, @ Peafai@a & & FiF a7 7R o
BR ¥ g T W g7

a)O b)R ¢)N d)E e)W
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39) How many pairs of digits are there in the number “3614729” each of which has as
many digits between them in the number as in the number series? (Both Forward and
Backward direction)

HEAT “3614729" A IR F WO fFaad goA &, T A v+ & g 3aa &
3% § T aean s@en & §2 (3 K S Qe fem)

a) Six b) Seven c) Five d) More than seven e) Four
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40) In a certain code language, If “FRIED” is written as “ QEJCF” and “PLANT” is
written as “KOBSM”, Then how is “SHOWN” will be written in that code language?

vs fAfRaa fe #mr A, afy “FRIED” T “QEICF” for@T STaT § 3R “PLANT”
“kOBSM” For@T STaT &, o 3HY F1T HT9T I “SHOWN” FT Ha for@r ST

a) HSPMV b) GRPMV c) GRPOV d) TGPMX e) TRPMX
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